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QUESTION 1

An IaaS Administrator needs to create vCloud Director Endpoints. The Administrator creates one Endpoint to
Organization A but cannot collect on Organization B. 

What could be the issue? 

A. Organization B needs to be enabled on the vCloud Director Endpoint 

B. Organization B needs to be prepared on the vCloud Direcetor Endpoint 

C. A second vCloud Director Endpoint needs to be created to see Organization B 

D. A second organization user needs to be added to the vCloud Director Endpoint 

Correct Answer: C 

 

QUESTION 2

What is the most time-efficient way for an administrator to assigned roles to multiple users? 

A. Assign the roles to an identity store group. 

B. Import a CSV file. 

C. Assign roles via AD/LDAP. 

D. Create a new identity store object. 

Correct Answer: A 

 

QUESTION 3

An administrator needs to create a two-node virtual machine cluster in a vSphere environment that uses a Fibre
Channel SAN. The clustering software does not have a SCSI target or a SCSI command pass-through requirement. 

Which VMware storage type should the administrator use? 

A. Physical RDM 

B. VMFS 

C. Virtual RDM 

D. NFS 

Correct Answer: B 

 

QUESTION 4
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An administrator needs to change the network a virtual machine will attach to. The virtual machine is deployed using
vCloud Automation Center, but when the administrator attempts to modify the configuration, the requested network is
not displayed. 

Why is the network unavailable in the interface? 

A. It is unavailable in the Provisioning Group. 

B. It is unavailable in the Reservation. 

C. It is unavailable in the Blueprint. 

D. It is unavailable in the Build Profile. 

Correct Answer: B 

 

QUESTION 5

Refer to the Exhibit. 

The system administrator is required to configure a User Search Base DN for users who reside in the Users OU shown
in the exhibit: 
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Which Base DN meets the stated requirements? 

A. OU=Users,OU=VMware,dc=vmware,dc=local 

B. OU=Users,OU=VMware,dc=vmware.local 

C. CN=Users,OU=VMware,dc=vmware,dc=local 

D. dc=vmware,dc=local,OU=VMware,OU=Users 

Correct Answer: A 
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